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MBA Degree Examination, November 2019
Answer Key to 19201002 — Core MB010103 - Managerial Economics

Part A - Answer any 5 questions (2 marks each)

The economist expects things to change by degrees. Marginal means adding just one
more unit. A decision “at the margin” compares the benefits and costs of small changes.
The analysis based on marginal changes leads to more accuracy in decision making.
Time plays a decisive role in managerial decision making. The classification of time for
decision making are very short period, short period, long period and very long period
depending on the nature of business under consideration.

Income elasticity may be defined as the ratio of percentage change in quantity
demanded to percentage change in money income. The formula for income elasticity is:

AY . Y
207 Q
Where Q = Commodity, Y = Money income, A = Symbol for “a change in”

Trend projection uses the past sales data of an organisation to project the future sales.
It is the simplest and most straightforward demand forecasting method. The pattern
of sales is depicted graphically and forecasting is possible out of past trends.

In the long run, all factors are variable and scale of production can be changed.
Returns to scale refers to the responsiveness of total product when all the inputs are
changed proportionately. It is concerned with the scale of production.

Oligopoly refers to that market situation in which there are a few enough sellers of a
particular product for the activities of one to be of importance to the others. It is that
form of imperfect competition where there will be only a few sellers producing either
a homogeneous product or heterogeneous products.

Price leadership is found in an oligopolistic market. It occurs when a firm changes its
price in either direction and the competitors in the industry follow the same due to
prevailing interdependence in oligopoly market.

Part B- Answer any 5 questions (6 marks each)

Managers are expected to allocate the scarce resources in a judicious manner and
therefore the model of equi-marginal benefits is important in their job. The equi-
marginal principle was originally applied to consumer behaviour and later extended
to organisational context. A manager will have to ensure that resources are allocated
in such a way that marginal benefits from the last unit provide equal marginal benefit
from alternate uses. For instance, a Marketing Manager is expected to ensure that an
executive is contributing equal marginal benefits from different elements of his job
(Equi-marginal principle).

Quantity demanded refers to a specific price quantity combination — a particular point
on a demand schedule. The difference between quantity demanded and demand is
crucial in analyzing changes in a particular market. Since quantity demanded refers
to a particular point on a demand curve, a change in quantity demanded refers to a
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movement along the demand curve from one price-quantity combination to another.
A change in demand refers to a shift in the entire demand curve. Such a shift in
demand can be caused by a change in any influence on quantity except price like
income, tastes and preferences etc. The result of a price change is a movement along
the demand curve, not a shift in the entire schedule.

Change in Quantity
Demanded

Changein Demand =

(2 marks only if the candidate write law of demand. 3 marks if all other elements in demand function is written. 5
marks to be awarded only if proper distinction is written with diagram)

10. Total utility is the sum of the utilities obtained from all units of a commodity consumed.
The more of a commodity consumed per unit of time, the greater will be the total utility
or satisfaction from it up to a certain point. At some point total utility will reach a
maximum and this is called the saturation point beyond which there is no satisfaction
from the consumption. Marginal utility is defined as the change in total utility caused by
the consumption of one more unit of a commodity per unit of time. Mathematically, marginal
utility of nth unit is the difference between total utility of n units and total utility of n-1 units
of the commodity.

The marginal utility of any commodity can also be stated as the slope of the total utility
curve for the same quantity. Since marginal utility is defined as an increase in total
utility due to the consumption of an additional unit of a commodity, total utility will
increase till the marginal utility remains positive. When marginal utility is equal to
zero, total utility becomes maximum. When marginal utility becomes negative, total

utility will decrease.
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12.

13.

14.

. In the short run, total costs can be classified into fixed cost and variable cost. Fixed

costs are those costs, which do not vary with changes in the level of output. Variable costs
are those costs that vary with the level of output. In the short-run, total cost (TC) is the sum
total of total fixed costs (TFC) and total variable costs (TVC) i.e. TC = TEC+TVC. Average
Fixed Costs refers to fixed costs per unit of output. Average Variable Costs refers to the
variable costs per unit of output. Average cost is the unit cost of production. It is the cost
per unit of output. Average total cost is the sum of AFC and AVC. Marginal Cost is defined
as the extra cost of producing an additional unit of a commodity.

In the long run the firm can build any desired scale of plant. All the resources are variable
and firm can increase the level of output as desired. The firm would choose that size of
operation (plant) at which it can maximize its profits. In formulating its policy, a firm will
plan to build the plant most efficient for the volume of business it expects to do. The long
run average cost curve (LAC) indicates the best possibilities available for it. This is the
reason why the LAC curve is sometimes known as a Planning Curve.

(5 marks can be given to the best answer only with all definitions and diagrams. If they
attempt only short run costs, 3 marks can be awarded).

On the basis of competition, markets can be classified as:
a. Perfect competition
b. Imperfect competition
c. Pure Monopoly
The features of Perfectly competitive market are
Very large number of sellers
Perfectly homogenous goods
Free entry to the market and free exit from the market
Perfect mobility of factors of production
Absence of transportation cost
e Perfect knowledge about the market conditions and economy
Pure monopoly has the following features
e Single seller
e No close substitutes to the product
e Power of monopolist to block the entry of new sellers into the market

Price discrimination is said to exist when the same product is sold at different prices
to different buyers. The degrees of price discrimination are the following:

First degree — When the monopolist is able to sell each separate unit of the output at
different price to the same buyer — Maximum possible exploitation of each buyer
(Perfect Price Discrimination)

Second degree — Goods are divided into different blocks of units and for each block a
different price is charged

Third degree — When the seller divides the buyer according to their income, location,
types of uses of the product, etc.

The objectives of pricing are revenue generation, maximization of profit, target rate
of return on investment, increase of sales volume, increase of market share, target
rate of return on sales, growth of the company, gaining price leadership, matching
competitors’ pricing and enhancing the overall brand value of the organisation.
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Part C - Answer 2 questions (Question No. 17 is compulsory)

15. Elasticity is responsiveness of quantity demanded to changes in its determinants like
price, income, price of related goods etc. Elasticity is expressed in percentages. The
types of elasticities are:

Price Elasticity — Perfectly Elastic, Elastic, Unit Elastic, Inelastic and Perfectly
Inelastic

Income Elasticity — High Income Elasticity, Unit Income Elasticity, Low Income
Elasticity, Zero Income Elasticity and Negative Income Elasticity.

Cross Elasticity — Positive cross elasticity, Negative cross elasticity
Elasticity of substitution

Promotion elasticity

(Students shall draw the diagrams; then only high marks should be awarded)

16. 20 firms are producing ghee with elements of product differentiation. The type of
competition here is monopolistic market conditions. The features are large number of
sellers, product differentiation, presence of selling costs, elastic demand and freedom
of entry and exit. The price and output is determined by the following conditions:

Short period: Price > Average Variable Cost at the level of output at which Marginal
Cost = Marginal Revenue

Long period: Price > Average Cost at the level of output at which Marginal Cost =
Marginal Revenue

(Students shall draw all diagrams in order to secure higher marks above 7)

17. Compulsory Question:

In a monopolistic market, a firm is expected to face high competition through product
differentiation. Different forms of product differentiation like features, quality
differences, shape, colour, package, etc. are identified in a monopolistic market. In
this case, the firm can make use of its unique feature of all-weather executive bag to
manage competition from rival firms.

(Students should be able to identify the type of competition and write its features in
order to secure marks above 7. If the answer is not specific, award only 4-5 marks
maximum).
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Part C
Compulsory Question, bact

13. Continental Corporation.

. Continental corporation is a manufacturer of air-craft parts. It decides to form continental
Automobiles to produce Luxury motor cars for export. The newly formed company has entered into
@ wage contract with labour union for Rs. 4,000 per person per month. Each incremental change
in plant size involves cost of Rs. 2 crores a year. All other variable expenses are constant at
Rs. 1,560,000 per car. The maximum money available to be spent on capital and labour is

Rs. 18 crores per year. The following production function has been worked out by the Engineering
branch of Continental Automobiles :

Capital : Labour (Units of 100 workers) w3
Units of
Rs. 2 crore 1 2 3 4 5 6 7

Output (units)

20 50 70 80 90 98 100
30 60 85 110 120,129 135 | . .
50 80 100 120 140 147 155
80 100 120 135 150 158 160
120 135 150 155 160 165 170

N Ry

The sales department feels that the demand for the luxury cars can be safely predicted as 150
annuelly which can be extended to 165 with a vigorous sales effort, The department recommended
that the car be sold at about Rs. 5 lakhs per car,

Questions :
1 From the data furnished, can you draw some isoquants,
2 With these, can you get an idea about production behaviour.

# Can you analyse behaviour of return to scale (if any) from the isoquant map ?

# Gen you give any suggestion regarding plant size to be built by continental Automobiles.
(1X 10 = 10 marks)
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5. (a) Many financial analysts use (GDP as a measure of the economy’s performance. However, GDP

Tas several shortcomings in terms of measuring cconomic well-being- State at least three
such shortcomings and explain how cach affects the validity of GDP as a measure of economic
well-being.

or

() What are the determinants of investment spending?
(5 x 12 = 60 marks)
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- M.B.A. DEGREE (REGULAR/SUPPLEMENTARY) EXAMINATION
JANUARY 2017

First Semester
MANAGERIAL ECONOMICS

(2016 Admissions—Regular/2013 to 2015 Admissions—Supplementary/2012 Admissions—Mercy
Chance)
‘Time : Three Hours ' Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.
Distinguish between “a change in demand” and “a change in quality demanded”. What are.
the causes of each type of change and how do we illustrate them graphically ?
or : :
Provide a simple definition of the price elasticity of demand and explain why knowing the
price elasticity for her product is useful to the firm's manager.

The market for milk is in equilibrium. Recent health reports fndicats thaf ealcium s absorbed
better in natural forms such as milk, and at the same time, the cost of milking equipment
rises. Carefully analyze the probable effects on the market.

or
Describe the difference between the Economic Value Added (EVA) and the Market Value
Added (MVA) approach to determining stockholder wealth.

‘When demand for a firm’s product decreases, the firm can take a number of. steps to adjust
costs and quantities supplied to the market. Some are listed below. Which actions are short
run and which are long run ? Explain your reasoning.

(@) Layoff 25 percent of the firm's existing employees.
(ii) Declare bankruptey and sell all of the firm's plant and equipment.
) Require management personnel to take a significant cut in pay.
(iv) Furlough employees for 3 days each month,

(v) Move to a smaller production facility.
or
(b) Distinguish between implicit and explicit costs and give examples of cach, In addition, explain
how explicit and implicit costs affect the distinction between economic profit and accounting
profit, What explains the distinction between the two measure of profit ?

Turn over
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M.B.A. DEGREE EXAMINATION, DECEMBER 2018
First Semester
MANAGERIAL ECONOMICS
(2015 and 2016 Admissions—Supplementary)
: Three Hours - Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.

We often use managerial and business Economics synonymously. Is it correct ? Argue with logic.
Or

Explain the concept of opportunity cost and its linkage with Production Possibility Curve (PPC).

If the demand is fixed but supply of the product increases, what happens to the equilibrium and
quantity ? Explain.
Or

Suppose the technology to manufacture computers improves but due to some recession in the
economy, the income of the consumers fall, assuming computers to be a normal good, what will be

the equilibrium quantity and price for computers in this case ? Explain.
Can an isoquant be concave to the origin ? Discuss.
Or

Distinguish the long run from the short run and explain the relevance of the distinction to cost

analysis.

Why is the monopolist considered to allocate inefficient in comparison to perfect competition ?
Explain.

Or
Why it is difficult to determine a unique demand curve under oligopoly ? Explain.
Inflation is a necessary evil. Discuss.

Or

Explain the concept of wage price spiral. What lessons can Governments take from this concept in
checking inflation ? Explain in detail.
(5 x 12 = 60 marks)
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M.B.A. DEGREE EXAMINATION, NOVEMBER 2019

First Semester
MANAGERIAL ECONOMICS
(2015 and 2016 Admissions—Supplementary)

Time : Three Hours Maximum : 60 Marks

1 i(a)

(b)

2. 4

(b)
3. (a)

(b)
4. (a)

(b)

Answer all questions.
Each question carries 12 marks.

Explain the fundamental problems of an economy.
Or

‘Economics is the science of choice when faced with unlimited ends and scarce resources
having alternative uses’ — Comment.

What are Giffen goods? Explain their price-demand behaviour with the help of an example.
) Or
What is elasticity of demand? What are its types? Explain.
Explain the concept of production function with the help of a two-input and one-input case.'
Or
“The behaviour of costs is determined by several factors” — Elucidate the statement.
What is kinked demand curve? Explain the price-output behaviour in an oligopoly market.

Or

Explain various methods of measuring National Income.

5. Compulsory Question. Read the following case study and attempt the questions given at end.

Outside an airport, a shopkeeper is running a coffee shop. The demand function for coffee cups is :

Q=150—10P

Where Q is the quantity demanded of coffee cups and P is price per coffee cup.

Questions :
(i) Write total revenue function.
(ii) Determine at what quantity of coffee cups sold and price fixed, total revenue is maximized.

(5 x 12 = 60 marks)
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M.B.A. DEGREE EXAMINATION, DECEMBER 2018
First Semester

MANAGERIAL ECONOMICS
(New Scheme—2018 Admissions—Regular/2017 Admissions—Supplementary]

: Three Hours Maximum : 60 Marks

Part A

Answer any five questions.
Each question carries 6 marks.

Why are economic theory and its methods used by managers of business firms in their decision
making ?

Define ‘Law of Demand’. What do you mean by change in Demand ?
Indicate the relationship between ‘Revenue’ and ‘Elasticity of Demand’.

What are the limitations of the principle of least cost combination ?

5. Write a note on Long-run Average Cost.

10.
11,
12.

What are the features of Monopoly ? What are the factors that ensure monopoly power for a
monopolist ?.

Define the term “Monetary Policy”. Indicate the principal objectives of Monetary Policy.

What are conceptual difficulties in the measurement of National Income ?
(5 x 6 = 30 marks)
Part B

Answer any two questions.
Each question carries 10 marks.

‘Managerial economics is a part of normative economics. It is pragmatic and conceptual in nature’.
Discuss.

Tllustrate the law of E_qui-marginal utility and bring out its usefulness and limitations.
Analyse the cost-output relationship in the short-run.

Explain and illustrate the differences between Perfect Competition and Monopoly, regarding pricing
and output and nature of curves.
(2 x 10 = 20 marks)

Turn over
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Part C
Compulsory Question.
13. Continental Corporation.

Continental corporation is a manufacturer of air-craft parts. It decides to form continental
Automobiles to produce Luxury motor cars for export. The newly formed company has entered into
a wage contract with labour unien for Rs. 4,000 per person per month. Each incremental change

“in plant size involves cost of Rs. 2 crores a year. All other variable expenses are constant at
Rs. 1,50,000 per car. The maximum money available to be spent on capital and labour is
Rs. 18 crores per year. The following production function has been worked out by the Engineering
branch of Continental Automobiles :

Capital : Labour (Units of 100 workers)
Units of
Rs. 2 crore 1 2 3 4 5 6 7

Output (units)

20 50 70 80 90 98 100
30 60 85 110 120 129 135
50 80 100 120 140 147 155
80 100 120 135 150 158 160
120 135 150 155 160 185 170

L= B N

The sales department feels that the demand for the luxury cars can be safely predicted as 150
annually which can be extended to 165 with a vigorous sales effort. The department recommended
that the car be sold at about Rs. 5 lakhs per car.

Questions :
1 From the data furnished, can you draw some isoquants.
2 With these, can you get an idea about production behaviour.
8 Can you analyse behaviour of return to scale (if any) from the isoquant map ?
4

Can you give any suggestion regarding plent size to be built by continental Automobiles.
(1 % 10 = 10 marks)
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M.B.A. DEGREE EXAMINATION, NOVEMBER 2019
First S‘emeéter
Faculty of Management Science
Core - MB010103 - MANAGERIAL ECONOMICS
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Part A’

Answer any five questions. Each question carries 2 marks.

1. What do you mean by marginal ci\ange?

2. Outline the clé,ssi.ﬁcation ‘of time from emn(;mic_ perspective with respect to decision making.
3. Define income elasticity of demand. What is the formulae to calculate income elasticity?

4. What do you mean by trend projection?

5. Define retums to scale.

6. What s oligopoly?

7. What do you mean by price leadershif)?
(5%2 = 10 Marks)
Part B

. Answer.any five questions. Each question carries 6 marks.

8. Managers are expected fo consider marginal benefits from any course of action in organisations. Do

you agree? Substgntiaic your answer with an example.

.9, Distinguish between ‘change in quantity demanded' and ‘change in demand' with the help of a

diagram.

. 10. Show the relationship between fotal utility and marginal utility with the help of a diagram.

11. Explain the short run and long run cost curves. Why long rin average cost curve is called “Planning

Curve™

12" Bring out the classification of market based on competition. Compare the features of a perfectly

competitive market and pure mbnopoly.
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13. What is monopoly price discrimination? Explain the types of price discrimmation with suitable

- examples.

14. What are the various objectives of pricing in an organisation?
(5%6 = 30 Marks)
Part C
Answer any twe questions. Each question carries 10 maris.

' Quiestion number 17 is compulsory .

15. . What is elasticity? List and explain the different types of elasticity with suitable djagmms

16. Assume that there are twenty firms prod'ucint7 cow 'ghee in a given market. Each firms claim that.
their ghee is superior in terms of quality. All firms are required to spend money on prmotional PN *
éndeavours. Identify the type of ‘competition in this market and highlight the features, How a fimm
“can determine equilibrium pncc and output in this market?

Cdn!pulsor;‘Quesﬁon

17. Anew firm entered in monopolistic. market brodu‘ces all weather executive bags. There are ‘
established rival firms in the market for executive bags. How the new entrant can facé high ]evel
oompeutlon through product strategy? Is it requxred for this firm to ‘spend more money on
promohonal endeavours? :

(2x10 =20 Marks)




